SITEID : SRI-AURORA (SRI International - Sesame Team, submission ID: SRI-AURORA_6)
Experiment ID :SRI-AURORA_MED11_MEDI1I1TEST_MEDFull_AutoEAG_c-ConceptsLateFusion_1
Events Processed : E006 (Birthday Party), EOO7 (Changing a vehicle tire), EOO8 (Flash mob gathering),
E009 (Getting a vehicle unstuck), E010 (Grooming an animal), EO11 (Making a sandwich), EO12 (Parade),
EO13 (Parkour), E014 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet| #FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186|31821 130(2250 56| 0.0711 0.3011 1.1892 0.0175 0.5591 0.7778|  0.0636

E007| 111|31821 64(1327 47| 0.0418 0.4234 0.9460| 0.0103 0.6216 0.7500|  0.0344

E008| 132|31821 1212323 11| 0.0733 0.0833 0.9987| 0.0129 0.2576 04187|  0.0401

E009| 95/|31821 67(1470 28| 0.0463 0.2947 0.8733| 0.0129 0.4526 0.6132|  0.0446

E010| 87/31821 57(1872 30/ 0.0590 0.3448 1.0815| 0.0132 0.6322 0.7975|  0.0331

EO11| 140|31821 69(1288 71| 0.0407 0.5071 1.0148| 0.0129 0.7143 0.8755|  0.0599

E012| 231|31821 173[1226 58| 0.0388 0.2511 0.7357| 0.0213 0.3290 0.5950|  0.0486

EO013| 104|31821 90(1821 14| 0.0574 0.1346 0.8516| 0.0036 0.3558 0.4003|  0.0849

E014| 78|31821 59(1334 19| 0.0420 0.2436 0.7684| 0.0110 0.5128 0.6501 0.0425

EO015| 81/31821 482155 33| 0.0679 0.4074 1.2553| 0.0106 0.6420 0.7738|  0.0347

DET for SRI-AURORA_6 : SRI-AURORA_MED11_HED11TEST_HEDFull_AutoEAG_c-ConceptsLateFusion_1
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